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Paper I
PEELIECAN |

Time Allowed : 60 Minutes]

[Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : A1 TRAIehd U (50) Fgfae W feeiel oRE ude URAe | (2) U SR

| Ty Gred

Directions :

Question numbers 1 and 2 are based on

the following information :

Following is a table representing foreign
tourists visiting different places in India

in a certain year. (Figures are in lakhs).

Type | American | English | French | Other | Total
Place
Agra 6.5 3.8 3.5 1.2 15.0
Delhi 8.2 8.7 2.7 0.4 20.0
Chennai 3.7 3.3 2.4 0.6 10.0
Udaipur 2.8 1.3 1.5 0.4 6.0
Bangalore 3.0 1.2 1.3 0.5 6.0
Shrinagar 1.0 0.8 1.1 0.1 3.0

=T
U9 IS 1 7M1 2 Y& Hifgdiay
31T%Tlﬁ_d31'l%?l:
WAt Sideh auid faraer fSemmuir St
QU Wyl gamymeit Aifedl geret
\RuTtHe Taerel 21Tg (3Mhe FrErHe
3TEA),

g | orEfteRs | Sfewr | ®mw | 3@ | wEm
AE=Eau

) 6.5 3.8 3.5 1.2 15.0
feeett 8.2 8.7 2.7 0.4 20.0
g 3.7 3.3 24 0.6 10.0
ECE LR 2.8 1.3 1.5 0.4 6.0
AR 3.0 1.2 13 0.5 6.0

EIR 1.0 0.8 11 0.1 3.0

1. What is percentage of total number
of tourists visiting Agra ?

(A) 33.33%
(B) 25.00%
(C) 16.67%
(D) 10.00%

1. ST YEE W QU UHUl WeRTE!
YReard Tl ?

(A) 33.33%
(B) 25.00%
(C) 16.67%
(D) 10.00%

[P.T.O.
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2. Which type of tourists found | 2. TcHE] FIv YHR= YA Talld <&
maximum at Delhi ? M@ ?
(A) American (A) 3R
(B) English (B) Efter
(C) French (C) Ha
(D) Other D) TR
Directions : T
Question numbers 3 and 4 are based on U9 thHleh 3 AT 4 § @FT TTfEdtaR
the following information : M| IR -
Following table gives itemwise WWWWW‘
expenditure of construction of house. THTOT 3:"?'?'" e qd I
Item Expenditure (%) e Td (%)
Labour 25 HRI 25
Cement and Bricks 30 fatie afor faer 30
Steel 15 wreg 15
Timber and Glass 20 RS S = 20
Miscellaneous 10 I 10
3.  The information in the above table | 3. a{ial TRiAA Aifed! ages To=T=N

is to be represented diagrammatically
using Pie diagram. What will be the
angle of the sector representing item
labour ?

(A) 50°
(B) 30°
(C) 90°
(D) 25°

(Pie diagram) TN TEEEHE! 3TT6.

S A1 HTHIEIS! ST Sesumhosral
(Sector) @I fohel Sfvmen &a ?

(A) 50°

(B) 30°
(C) 90°
(D) 25°




What is the ratio of expenditure of
the item cement and bricks to the

total expenditure of construction of

house ?

(A 1:3
B)1:4
C) 2:5
D) 3:10

The following (X, Y) points are
plotted on X-Y plane and the

adjacent points are joined by smooth

curve :
X Y
1 60
2 30
3 20
4 15
5 12

What will be the nature of curve ?
(A) Straight line
(B) Parabola

(C) Hyperbola

(D) Exponential curve

4.
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faie anfor faor =1 wHomESt STeTedn

G S ARG Seiedl THU

TRl U w2

(A 1:3
B)1:4
C) 2:5
(D) 3:10

e (X, Y) fog X-Y gaermer e 9
qorTd foig des (smooth) F™ SiEe :

X Y
1 60
2 30
3 20
4 15
5 12

I SRt E®Y hIU SFHA ?
(A) T I

(B) =& (Parabola)

(C) &urd (Hyperbola)

(D) w9 (Exponential curve)

[P.T.O.



Identify the correct pair from the

following :

(A) Pxl — unit of focus of digital

cameras

(B) HDD - unit of high definition

of digital screens
(C) Kbps — unit of data transfer rate

(D) Ghz — unit of memory storage

on digital devices

When you access a site with ‘https’
instead of ‘http’ in the address bar,
it primarily means :

(A) You are accessing a speedy

connection

(B) You are accessing a secure

communication

(C) You are accessing a single date

line transfer

(D) You are accessing a smartphone

friendly website

APR - 00124/I—D

ETATCTOeht SRVl STel Irg 38 2

(A) Pxl - fefSea 5= % A=
THeh

(B) HDD - fefSea w==m=a ==

~

SN . koY
Teedd (STHAYH) Teheh

(C) Kbps — fag1 (221) TR O
Teheh

o~

(D) Ghz — fefsea Su=tmmmeiar T

HIGAU[h = Tehoh

‘http’ Uasit ‘https’ TN TUST 28R
STSTaRHL STHUT Sefdse Tl Sieal

SOl el Rl

(A) TH IEM TR T (SE) T

3T
(B) U YUHd HUsh S aTRd STl

(C) faeT exarau=n T 9t ST 9T

(D) WE®HAE e Jeadze I

STHdl




Which of the following shows the

correct chronological order of the

first launch of these internet based

facilities ?

(A) YouTube, Gmail, Instagram,
Wikipedia

(B) Wikipedia, YouTube, Gmail,

Instagram

(C) Gmail, Wikipedia, YouTube,
Instagram

(D) Wikipedia, Gmail, YouTube,
Instagram

Which of the following has not been
appointed as a national coordinator
for SWAYAM to ensure the quality

of the course content ?

(A) Indian Institute of Science

(ITSc)

(B) National Institute of Open
Schooling (NIOS)

(C) Indian Institute of Management,
Bangalore (IIMB)

(D) Consortium for Educational

Communication (CEC)

9.
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il

seeald Eea fefs

= 99l GaqYH

& Fear™ 8 A1 Fehsmer. weftede]

FIU T AT HIAEH gl 2

S S

(A) F2gd, S, s, fafefufea

(B) fafefufean, gega, s, s==mmH

[ S

(C) SirHe, fafewfufean, gega, s==nm

i S il 3

(D) Tafefafean, v, J2gd, TR

I (SWAYAM) SARIEHHATAT
EINRICIICE ] TeAeTieh!
HIVET TEE TR THEE WA
Rt gmereft T 2

(A) IR fomm eI (STESTETEs)

(B) U Hgoa fommersft frerm ween
(TISTHATH)

(C) 9RA TIRUMHA G dTZ®

( AIAATHST )

n

(D) Sregforer 9o weam (Rt

[P.T.O.



10.

11.

12.

13.

In the context of ‘Web 2.0’ digital

environment what does the

abbreviation UGC stand for ?

(A) University Grants Commission
(B) User Generated Content

(C) Unique Graphic Coding

(D) Universal Graphic Chip-set

When were Millennium Development
Goals (MDGs) adopted by the United
Nations ?

(A) 1990
(B) 1995
(C) 2000
(D) 2010

What is the target year for achieving
the Sustainable Development
Goals ?

(A) 2020
(B) 2025
(C) 2030
(D) 2040

Which of the following is the effect
of photochemical smog ?

(A) Headaches, eyes, nose and
throat irritation

(B) Gastrointestinal disorders
(C) Renal disorders
(D) Bone disorders

10.

11.

12.

13.
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‘g9 2.0 TefSea SFed=a Tevld UGC
T FUSIAE TIEY WICETeh! hiowd]
(TUSTT) 9= <xifad ?

(A) Fheefdd Feq HftwH

(B) SR ST e

(C) Ffer itk wifen

(D) gfeeda Witpsk fou-He
BRESERUIC IR el CANR CEa s i
(MDGs) ¥l wishrer ?

(A) 1990

(B) 1995

(C) 2000

(D) 2010

yyaa faerg Sfese ®ea wvgmeT
fuifa =6 =g ?

(A) 2020
(B) 2025
(C) 2030
(D) 2040

W] IV FeRTSRIET Teh SRaT

gfomg aE ?

(A) g, Eles, T, W@ AT STeoeTed
(B) S&X A1 e ferehr

(C) Tt fawr

(D) =™ fawmr




14.

15.

16.

What is the term for the process of

inoculating microbes into soil ?
(A) Bioventing

(B) Biostimulation

(C) Bioaugmentation

(D) Biosparaging

Which component of a solar panel
is responsible for directly generating
electric current when exposed to

sunlight ?

(A) Inverter

(B) Semiconductor material
(C) Reflectors

(D) Batteries

Environmental Education is not just
awareness and knowledge, but it is

also development of ................ .
(A) Deeper knowledge

(B) Theoretic knowledge

(C) Proper attitude

(D) Proper concepts

14.

15.

16.

APR - 00124/1—D
HIAAE FaAsiard HUT0 Rl
yfshael & WU ?
A) Sfas-frfmE
(B) Sifaeh-SusH
(C) Heusiial AEfid L
Exu|

3 o

(D) Sifger TTES&E

AR Wi HATEER TR Tl

RISk 92 fagygd gere fmior swevamm

-
SdEeR A9dl 7

(A) TEs faegd Waar 7=

(B) ereiwames Wl

(C) &=

(D) fosrt 5=

qaferR frew § wed Sofia SRt 9

[P.T.O.



17. Indian education system generally

18.

is divided into following periods :

(A) Vedic period, Buddhist period,
Muslim period, British period,

Post-Independence period

(B) Hindu period, Buddhist period,
Jain period, Muslim period,

British period

(C) Vedic period, Ramayan period,
Mahabharat period, Jain period,
British period

(D) Upanishadic period, Puranas
period, Buddhist period, Muslim
period, Modern period

In correspondence education system

the following things are included :

(A)

Only guiding instructions

(B) Only solved answers through

letters

(©)

Guiding instructions and solved

answers

(D)

Guiding instructions, solved

answers and occasional lectures

17.

18.

APR - 00124/I—D

YA o780 =eese |a=d; Eed]

faurm &a S

(A) Sfcs e, 95 e, G Fies,

fafesr wles, WEATR Fiw

(B) f&g hes, sl e, S Fles, Tt

13, ToIfeel hres

(C) dfchr FTs, U Fles, HEIURA

o N

FSB, S Hes, TR Hles

(D) IUTSR HTes, TV H1es, A5 FI3,

qfeTd @les, SMETeh D

THAAENIER U810 =qaedd @i
ST SHEET B

(A) R AFICRI®R ol

L i [

(B) W Erefeere

SEE
(C) wrfester = s Srefaetet 3w

~ a) ®

(D) Trfeeeh =, Hrefacel sm

afoT

TR S

10



19.

20.

21.

The First Open University was
started in 1969 at ................. .

(A) Chicago in America

(B) Milton Kenis in England
(C) Paris in France

(D) Delhi in India

According to Muslim System of
Education, ‘Madarsa’ is supposed to

be the centre of ................ .
(A) Primary Education
(B) Secondary Education
(C) Higher Education

(D) Technical Education

If taught on memory level of teaching,
the students get tremendous power

for acquisition of .................. .
(©) factual information

(i1) generalized insight

(2i1) problem solving abilities
(A) Only (1)

(B) Only @)

(C) (@) and @1)

(D) @) and (ii7)

APR - 00124/I—D

19. ufgean He foemdiar= s 1969 #7&

.................... aaww.

o faY o S

(A) sfehdter fomemm

(B) Teieqdid faeed &g
(C) wrEdE 9R™
(D) vRae feoe

20. Hfww forem ggdigar ‘weEn’ ®

21. S SFAHIERAT 6T (memory) &SR

orraet @ fo=neaf

HueTer faareror et fHese.

~_n

(1) oR<faeh Hifedl

(i) AHATHA AR

(iii) HEE TOeRTor &
(A) HIB (i)

(B) %= (i)

(C) (@) =nfor (@)

D) i) 2o (i)

11

[P.T.O.



22.

23.

24.

The teacher should choose teaching

method considering ................. .

@)

(z1)) Nature of the objectives to be
realized

Nature of the learners

(zit) The teacher’s own ability and
proficiency

(A) Only @)

(B) (@) and (1)

(C) (@), (i) and (i)
(D) Only (@7)

What is the main characteristic of
gifted students ?

(A) They are introvert in nature

(B) They are dependent of their
peers

(C) They are extrovert in nature

(D) They are independent in their
judgement

For adult learners, instruction needs
to focus ......ccc....... .

(A)

equally on the process and the
content to be taught

(B) less on the process and more on

the content to be taught

(C) more on the process and less on

the content to be taught
(D)

equally on the process and the
product of learning

23.

APR - 00124/I—D

...................

T e ToTaenT 31T

gl Taeet wifest.
@)
(i) A= HIEATA IR WEY
(iz2) TereFeRT=an e =1 &Aa AT fgoran
(A) Haz ()

(B) (i) = (i)

(C) (), @) &t (i)

(D) %9 (if)

wfawrem foeneats gem Aftrew wm
S ?

AT AT WY

(A) d qHE W& A

(B) d = HRIEATHTER STaeied STEdTd

(C) O dfeqE eI A

(D) d T Fofamsd wWad A9dd

(A) Tfgran snfor freravamn A9 Jiex
W@

(B) gfaay wdl omfor fyreravarea
STYTAER ST

(C) wferIex S oo feTemavar=a
AN HH

(D) gferar orfor SAeggaraT 9T
(Product) TR ARG

12



26.

27.

evaluation gives a
clear idea about understanding of
the student regarding particular

content.

(A) Placement
(B) Formative
(C) Summative
(D) Diagnostic

is the characteristic of

qualitative research.
(A)
(B)
©)

Emphasis on numerical data
Focus on statistical analysis

In-depth exploration of meanings

and experiences

D)

Strict adherence to experimental

designs

is a limitation of positivism

in research.

(A) It ignores the importance of

empirical evidence

(B)

It tends to oversimplify complex

social phenomenon

(&)

It places too much emphasis on

subjective interpretations

(D) It encourages bias and personal

opinions in research

APR - 00124/I—D

25. Taenmeten fafere seMEr=n Teher -

26.

27.

S S ——— e

Td.

(A) TAfAfE

(B) eI

(C) HenTiih

(D) TR

.................. 3 e weeT S

R,

(A) TETHE YAl (BeEX) W

(B) VARSI fOveioomer @sd

(C) gf= anfor eyar wElid Ted

(D) WA TS STRIEETT Tah
fase T

.............. Wy N S

e,

(A) SIS JUEATH FTeehe A sl
EXu|

(B) SAfdsiieed M BeAe Sied H
FLIE YRl
(C) =afergmey qAfTe=m HToaer SR

W IO

(D) HMEATHEY TeTHTIIon ST SfeRish
Td I Wieded o0

13
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29.

30.

is referred as “citation” in

academic writing.

A reference to the author’s

personal experiences

(B) A way of giving proper credit

to the original source of

information

(C) A fictional element added to

enhance the narrative

(D)

A personal opinion included

without supporting evidence

............... type of research misconduct
involves making up or falsifying
data.

(A) Plagiarism
(B) Fabrication
(C) Misinterpretation
(D) Biased sampling

ICT tool is essential

for creating and managing biblio-

graphies in research papers.
(A) Statistical software
(B) Reference management software

(C) Spreadsheet software

(D) Project management software

29.

30.

APR - 00124/I—D

....................

O IR G IR ECRIE L]

"I 38 =UEE.

(A) Tremr= SEfdas ST T

~

(B) Hrecir=a Hos Uil 3 Tl SRol-ay]
(shfee) <uamn wm

(C) Y defaua™e Sieadl Th
HIeqeh AW

(D) Y qUeniiEr gHifas Shelel

Tgfage w1

T 221 TR L0l fohar Eier 221 T3

LA AT 3R,

(A) Hifefers Ir/arema =

(B) wHmEYun

(C) = steifre=m

(D) uefardl HAT e

TEETHE T TR HIvAER! ST

...................

fa= e gl

IR S

(A) wifeget GifedsR

(B) Fgd =ERu HiHdeR
(C) Hrexiie TR

(D) TehoU T T3

14



Directions :

Answer question Nos. 31 to 35
based on either English passage

or Marathi passage :

It should be remembered that the
Nationalist Movement in India, like
all nationalist movements, was
essentially a bourgeois movement. It
represented the natural historical
stage of development, and to consider
it or to criticize it as a working class
movement is wrong. Gandhi
represented that movement, and the
Indian masses in relation to that
movement to a supreme degree, and
he became the voice of Indian people
to that extent. The main
contribution of Gandhi to India and
the Indian masses has been through
the powerful movements that he
launched through the National
Congress. Through nation-wide
action, he sought to mould the

millions and largely succeeded in

doing so. He changed them from a

APR - 00124/I—D

L3 A2 LI

U9 wWich 31 9 35 § Ue feerean
TS| ATl U=t 3ad 2l ¢

aTo ToRATSTel TSIy HRRISE wSe]
&l fovaehiel, Wegehiyl, YO T
TR TSMIE! ITHATAT SHAN daedl

A, Iehe THMST JUaSt YT,

qifecd, @&pdl A=l Fedes e
Tfeett. o fafay 9@ 2@ Tled, d
UehTeh! Tedsiiel fepen Touvedl Ufeel.

IS TEHRIo%s € AT e o

FUMTT Hifecd AeMeaH, fafay aifes

. L ‘e TN WL NN
TREEH!, Wi TG TGS v
T, &Y o™ faemae TsehR

Tl 2 AT IR TSR0l TEaTel

fohal TedTed] TSITel STeAel hivaTdTa!

o R it
THAT hld HIEEE IT=A0 oMYA

& Bd omfor fad=w efed. eATgen

15
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demoralized, timid, and hopeless
mass, bullied and crushed by every
dominant interest and incapable of
resistance, to people with self-respect
and self-reliance, resisting tyranny,
and capable of united action and
sacrifice for a larger cause. Gandhi
made people think of political and
economic issues, and every village
and every bazaar hummed with
arguments and debates on the new
ideas and hopes that filled the

people.

In case of very exceptional person,
like Gandhi, the question of
personality becomes especially
important in order to understand
and appraise him. To us, he
represented the spirit and honour of
India, the yearning of her sorrowing
millions to be rid of their
innumerable burdens. An insult to
him by the British Government or

others was an insult to India and

her people.

APR - 00124/I—D

gifefcas T@adt wursad A1fon

{ aolll &}

HEEA e e Hiierasd d

difcass == AUdqa |rdsfrwyn

HLOAE GITel il AR AS=A

TE @A TeaR] IO I

TR AEHel HEHET S TEst

eaTEl S g, JERRTOEu W

THEMY IISTde HIOM Sl Ao

3MRd. TIHRR-SER Had 8 UHEA
THUR YIS HAUSHIS U[H el
YT Sl TR Bt 1 2 TR
TEH, HIY AEHd 3T AEHTIRA
WehTeh U h1 Tesdld 7 TeHUME TOTHH
B <R wIEvErE favg 7 2 o fauees
F@des B0, § W Uk Gl TSIehr

& Iehd. HUS Ao fhen IEYS o

ez e, sToea TRem] ==fien St
YA e gReeyHr faeme, «ren

ST TRt Aol Thae IR TSR
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31.

32.

33.

The given passage states that
Mahatma Gandhi largely succeeded

N e, )

(A) fighting against the social

discrimination in India

(B) eradicating economic

inequalities in India
©)

moulding the millions in India

(D) giving political representation

to Indians
What do you understand by the
phrase “to be rid of” ?
(A) Released/freed from something
(B) Tied to something
(C) Increased something

(D) Included something

What did Mahatma Gandhi
represent ?

(A)
(B)

Poverty of India

Working class movement in
India

©)

The natural historical stage of
development of India

(D) The spirit and honour of India

31.

32.

33.
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TS T, e & G&hd! A=l esaed

Y[ed Ufgei! ST olEhral i ared ?
(A) ST A1 & o A e

N oon

Hlledeh  enlHFIKI

~ 5
She AT

(B) TI&! WM, Wifecd o HEHdl el

TFRH ST

(C) IMAT=AT &M= UguAT=l Il

SO TR TS

(D) ISR SETETTes

ofec Heees, Tfecd UREET -1 ™
EZUIC L o I

(A) Tee feqday 7 Uedl HEATS
qTdeiia] Gre Hedrd faemees e
RECA el

(B) TreETe fhal TeaTedr UgTa
HHAEAY UM ROl
(C) TNTeh HTTEIHAMT U 7 HTeror

(D) WH=IREN Ugd SHeTET S1eme

IREER

TSI Tfefcas Sesaesl Sivd
FHIAT B BId 2

(A) FAHRYA o HIEAEAE ]
IEY 0

(B) Toiedt fammerien aifeferermn 318

(C) Hifefcaer Tataed AMrTEd TR

D) TueEl Tl a aias ==

TS o
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34.

35.

36.

The main contribution of Gandhi to

India has been ................. .
(A) strong arguments

(B) the powerful movements
(C) vociferous speeches

(D) intermittent fasts

What, do you think, is the correct

meaning of the term “bourgeois” ?

(A)

Working class with utilitarian

values

(B) Agrarian class with moral

values

(C) Middle class with conventional,
conservative and materialistic

values
(D) Lower class with no fixed values

Which of the following messages is
less likely to be misunderstood or
misinterpreted due to cultural or
linguistic background of the receivers

of the message :

(A) message full of written words
(B) message full of spoken words
(C) message full of body-gestures

(D) message full of iconic signs

34.

35.

36.
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QLRI &0 S8 YTeaid AU SRTeg
H 2

(A) ThIRTH

(B) gXUHE HUGH

(C) Troawfasm™ Tues

(D) JAYA AR

T AW e HUS HIHeTeae]

TefoTt HigaMT UHEAr S geoe aed

e ?

(A) =l o WEAH! AT A9
T

(B) HiecaeHaT=l o o s1eqey
qREYRTY THareed

(C) a1 28l 9 wigar faums

TSI HTE T TR 0

(D) YR 9 HURHHl HE AUSHET
TaT IO

e deh] HIAT TRT=AT TR I
wehRehThed TRa1e Fevar= a1 A
THAAT A= HEUART IR 1
AT ?

(A) HyUiusl el IR ST Haw
(B) HqUiY el
Tl

(C) ek BETETT Yofaul HehrReten
RS

(D) QUMY STeRATaH (STERA) fawgri
T 9ol

(=) VI8 STHeie
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37. In the context of contemporary | 37- grepTeiy fefSeer wroregerrT @t
digital paralance what are the eI SIS |HIfRT S v
following symbols collectively called el = ?
as - =) —=( ;=) —x
(A) Emoji ”
® B ) (B) sHifeehIg

moticons
_ (C) wHrget
(C) Smiley
D) w=d
(D) Stickers @)

38. In the context of non-verbal | 38. T:¥1sE TR HEUid WelIcTieh! HIUd
communication identify the incorrect IECIEECCY 7
statement : <

, , (A) M T TR WEE TR
(A) Silence is a means of
communication (B) T3 WU Gore A0 Hawn
(B) Non-verbal cues and messages [REERIE GRS RG]
1 . N
are easy to contro (C) M:3&E Gamo & A&haramaer S
©) Non-verbal' 'messages are deRdt Gaeeiel ST
culture sensitive and relative
(D) In case of confusion, people (D) e fepar fgem ‘ LIS RIEEEAC
tend to trust non-verbal TN f:3Te TerIer favery
communication more than the TS AT el Sl
verbal .

39. What is Prasar Bharati ? 39. WER WAl HE T 2

(A) It is the national level news (A) SIS STl 2T Ui SeleCsit
channel under Door Darshan ‘oﬁaﬂ%:ﬁ

B) It i§ a news l?road(?asting (B) ST (TSTESTR) I TR
service of All India Radio (AIR) o

(C) It is the association of private 3 : St
broadcasters in India (€) A £

(D) It is India’s state owned Public (D) YRATHT IR E ATeTeh =] He s
Broadcaster TEROT Hell
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40.

41.

42.

Which of the following elements is
facilitated much more in a
communicative situation wherein
teacher and students are sitting
together in a circular manner facing

each other ?

(A)

effectiveness of the content of

teaching
(B)

teacher’s power to control every

student
©)
(D)

discipline amongst the students

level of interactions between the

students

What is the arithmetic mean of the
integers from 1 to 51 ?

(A) 24
(B) 25
(C) 26
(D) 27

If 10™ (m is positive integer) divides
the product of the integers from
101 to 151, then the maximum value

of m is :
(A) 12
(B) 13
© 1
(D) 10

40.

41.

42.
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Siegl frere anf fomneff TS e
& Ageslehdll TAd sEelel STHAT, 3T
AT TEIHE @I Teiehl o

HIHTA ATYSH FHONT IS Hosd 2

(A) Torerfauaren e gumEgor

(B) v&e fammemier Aoz Savar=
forererT=  &mHan
(C) fomneataeier fora

(D) famneatuelie STaTEaREl U

1 d 51 = Yoiieh HEAE T A
et ?
(A) 24
(B) 25
(C) 26
(D) 27

SR 10™ (m 99 Ulieh &) A e
101 & 151 =1 qUifeh H&AT=41 TONRRM
MW 9 S W om = Hied™ Hiel

forma famet 2
(A) 12
(B) 13

C) 11
(D) 10
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43.

44.

45.

Among the three numbers,
X =188181811881, Y =881181811818
and Z = 811881188118 which
numbers are divisible by 18 ?
(A) X only

(B) Y and Z only

(C) Z only

D) X, Y and Z

A person was working to transfer
bricks from a place X to a place Y,
where the distance between X and
Y is 200 meters. At a time the person
was carrying 15 bricks. Starting
from the place X, after travelling 5.5
km while working, how many bricks

were shifted to the place Y by the
person ?

(A) 190
(B) 195
(C) 210
(D) 215

There are 64 deer in a forest in the
present year. If x(n) denotes the
number of deer in the forest in

3
year n and that x(n)= Ex(n_l) for

n=1,2,3, ... , how many deer are

there in 5th year in the forest ?
(A) 96
(B) 486
(C) 243
(D) 339

43.

44.

45.

APR - 00124/I—D

fedtear X = 188181811881, Y =
881181811818 5 Z = 811881188118
TEATUh ShT0Tear Sy 18 3 9399 9

ST ?
(A) X %
(B) Y 9 Z %
(C) Z %

D) X, Y& Z

Teh kit X A1 foRTomangs Y = foentof
ferel STg U=l ¥ shd g, X ATl
Y =1 feshmonaser S 200 HiX A
T SHKIT WehT ofosd 15 ferel =g =d. o
i X A1 TSRV hMA™ gEeard
o™ 9 5.5 fRHl. ST IR Shelcl ST
Y @1 fowmof fedl faer dRfaen ?
(A) 190
(B) 195
(C) 210
(D) 215

TehT STTETHES =Te] aid 64 BROT 3T
IR x(n) & & ™ SARIA nSA
aeidara gILo=l ®I7 ovifad o

T 5T Tuidiel o STeel gt
e o ?

(A) 96
(B) 486
(C) 243
(D) 339

[P.T.O.



46.

47.

Which of the following conclusion/s
is/are valid based on the statements
given below ?

Statement I : Some tigers are

goats.

Statement II : All political leaders
are intelligent.

Conclusion 1 : Some goats are not

tigers.

Conclusion 2 : Some political

leaders are intelligent.
Code :

(A) 1 only

(B) 2 only

(C) 1 and 2 both

(D) Neither 1 nor 2

Some buses are standing facing the
bus stand. Thane bus was ahead of
Nasik bus, which was ahead of
Jalgaon bus. Amravati bus was
behind Dhule bus, but ahead of
Thane bus. Which is the second last
bus from behind ?

(A) Thane
(B) Jalgaon
(C) Nasik
(D) Amravati

46.

47.
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@eiTe faemr=n SMuR Yeietish! Shioml/dr

fromd Sfeq ameq ?
faum™ I : FE a9 ®§ 9 ST

faam 11 : a8 v 49 gigam
STHAT.

frerdt 1 : =@ IRt 9 TEE.

frewd 2 ¢ =&t TIwE 9 FhgEm
ST

&E

(A) 1 w
(B) 2 wF

(C) 1 =7for 2 Tr=ret
(D) 1 amftr 2 =ikt T

el o THIATHER TOX 9IS e 31

3TTed. ST & e s9=a 4e 3Te
sTIfor TR 51 STeorel S=A1 & 31T
STRRTE &9 4ed ST AR 3T g 3N
A I AR, W A SH e o
I ARG ?

(A) =M

(B) SfesTE

(C) f¥eh

(D) STFREt
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48. In a code language if JKLM is coded | 48. Ta! Hiehfash A SR JKLM ¥ ®UR
as OSVX, then how DEFG will be OSVX 318 3R. W = 9md DEFG
coded in the same language ? = B UM HE A ?

(A) ILNQ (A) ILNQ
(B) JLNP (B) JLNP
(C) KMOR (C) KMOR
(D) IMPR (D) IMPR

49. In a code language if DAC means | 49. U&T Hishfdsh 9od S DAC =1 Hahdich
635, then what will be the code for 635 3@ Bal, W FEG =1 el &1
FEG ? oA ?

(A) 879 (A) 879
(B) 678 (B) 678
(C) 587 (C) 587
(D) 897 (D) 897

50. While facing south, Virat walks 15 | 50. Tfamere die e faue 15 HieX =T
meters and then turns to his right 3o |7 T Tod ] Sea e 93 10
and walks 10 meters. From there he T ITerdl. AL df Soase 937 15
turns to his right and walks 15 THex . FR F SRS T 15 Hew
meters. Then he turns to his left and e W @ R e 9 wed
walks .15 meters. Which direction is for 5 Frdt o .
he facing now and how much away a7
from the starting point ? '

(A) East, 15 meters (A) tﬁ’ 15 e
(B) West, 25 meters (B) dfe=H, 25 HiX
(C) North, 15 meters (C) ST, 15 HX
(D) South, 40 meters (D) TT&IwT, 40 T
23 [P.T.O.
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ROUGH WORK

24



